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3aBimyBau Kadenpu O. M. AxMasaiHosa




(@ 03.02-86)

Peuensis
HA MaKeT KOMILIEKCHUX KOHTPOJIBHHUX POOiT
3 qucuMILIiHM «/[istoBa iHO3eMHa MOBay

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niarorosku: 6.030503 «MixxHapoaHa €eKOHOMIKA

[Ipeamer «JlimoBa iHO3eMHA MOBa» 3HAXOJUTHCS y TEpeniky mpodeciiiHo
OpIEHTOBaHUX MPEAMETIB, sIKI GOPMYIOTh piBeHb mpodeciitnux Oakanaspis. [lakeT
KOMIUICKCHUX ~ KOHTPOJIBHMX pOOIT CKJIaNaeThCs 3 TPHUIALUATA BapiaHTiB.
KoMmmnekcHi KOHTpOJIbHI  poOOTH  po3po0ieHl BIAMOBIAHO 1O HABYAJIBHOI
nporpamMu Kypcy 3 mpeamety «JlimoBa iHO3eMHa MoOBa». 3aBIaHHS KOHTPOJIBHHX
poOIT 1at0Th MOXKIIMBICTH MEPEBIPUTH MIUPOKHUI 0OCIT HABUYOK 1 3HAHb CTYACHTIB
i3 TpaMaTUKK Ta MPOQeCiiHNX HABHUOK NEPEKiIaay, BUCIOBUTH BJIACHY JHYMKY B
NUCBMOBIN ¢dopMmi ¥ y BHUKOpPUCTaHHI NpodeciiiHoi abo moOyToBOi aHTIIHCHKOT
MOBH.

VYci cknaieHi BapiaHTH KOHTPOJIBHUX POOIT OJHAKOBOTO PIBHS CKJIQJTHOCTI.
KoxeHn BapiaHT CKJIaJIa€ThCs 3 TPhOX 3aBAaHb 1 OXOIUIIOE BECh KYPC HABYAIBHOTO
IPOrpaMHOI0 MaTtepially, OXOIUIIOYM OCHOBHI mpodeciiiHi TepMiHHM. 3aBIaHHS
BIJINTOB1/IalOTh BUMOTAM IMIATOTOBKU OakanaBpiB ranysi 3Hanb 05 «ComianpHi Ta
MOBE/IIHKOBI HAYKH» Hampsamy miarotroBku 6.030503 «MixHapoIHa €eKOHOMIKAY)

[lakeT KOMIUIEKCHUX KOHTPOJIBHUX POOIT OPIEHTOBAHUN HAa JOCUTH BUCOKHUH
pPiBEHBb BOJIOJIHHS 1HO3EMHOIO MOBOKO cepena (axiBIiB 31 CTyleHeM OakayiaBpa.
Kpurepii o1iHKH 1 CIUCOK JOBITKOBOI JIITEPATypH € OOTPYHTOBAHUMH.

3arasioM, makeT KOMIUIEKCHUX KOHTPOJIbHUX POOIT CKIAAEHO BIATIOBITHO 110
NEBHUX BHMOT, 3a0€3MeUyI0YM TaKUM YHHOM BHCOKY SKICTh TEPEBIPKH HABHUYOK
CTYJICHTIB 1 3HaHHS 3 JUCIUILIIHU «Jl17T0Ba 1HO3EMHA MOBaY.

3aBigyBau kadeapu

€KOHOMIKH TTOBITPSTHOTO TPAHCIIOPTY O. B. Aped eBa



KPUTEPII OIITHKHA
BuxonaHHs 3aBJaHb KOMILIEKCHOI KOHTPO1bHOI podoTu (KKP)

3 qucuuIuTing «/lijtoBa iHo3eMHa MOBa»

(@ 03.02-87)

Ominka sKOCTi 3HaHb Ta BMiHb CTyleHTiB 3 BHKoHaHHS KKP ¢axoBoi miaroroBku
CTYZIEHTIB (BUITyCKHUKIB) 32 BUKOHAHHS 3aBJaHb KOMIUIEKCHOI KOHTPOJBHOI poOOTH 3
muciurutiag “/{imoBa iHo3eMHa MoBa™ OIiHIOETHCS 3a 100 GabHOIO TIKaoko (Tadbmuis 1).

Taomumg 1
[loBHa npaBuIbHA 3aranpHa KUTBKICTb 3aBnanHsl 3apnmanns 2 | 3aBmaHHS 3
BIIIIOBIAb OairiB
3apnanns 1-3 100 40 30 30

BinmoBimHicTh peTHHTOBUX OIIHOK 3a okpemi 3aBnaHHs KKP y OGamax ominkam 3a
HAI[IOHAJIBHOIO IIKAJIOI0 HaBeJdeHa B TaOmuIl 2.

Tab0auis 2

Orminka B 6amax

Origka

3aBganug 1 3aBmaHag 2 3aBnaHHsd 3a HallOHAJILHOIO
IKAJIOHO
36-40 27-30 27-30 BinMinHO
30-35 23-26 23-26 Jlobpe
24-29 18-22 18-22 3a10BUIBHO
Memniue 24 Memnme 18 Memnre 18 HeszanoBiipHO
BinnmoBigHicTh peHTHHTOBUX OIIHOK 3a okpeMi 3aBnanHs KKP y 6amax
OLIIHKAaM 3a HAL[lOHAIHLHOO IIKAJIOK
Tabmuus 3
Orinka Orinka 3a Kpurepiit oninku
B 6a1ax HaIliOHaJILHOIO
HIKAJIOKO
90-100 BiIMiHHO BII[MIHHO — BIIMIHHE BUKOHAHHS JIUIIIE 3 HE3HAYHOIO
KiJIBKICTIO TIOMMIIOK
82-89 J00pe JYXKE JIOBPE — BrKOHaHHS BUILE CEPEI-HhOTO PIiBHS 3
KUTBKOMa ITOMHUJIKAMH
75-81 JOBPE — B 3aranpHOMY BipHE BUKOHAHHS 3 TIEBHOIO
KUTBKICTIO CYTTEBHX MTOMHUIIOK
67-74 3aJI0BUTEHO 3AJIOBIJIbHO — Hemorane BUKOHAHHS, aJie 31 3HAYHOIO
KUTBKICTIO HEIOJIKIB
60-66 JOCTATHDBO — BuKOHaHHS 33]I0BOJIbHSIE MiHIMATLHAM
KpHUTEPisM
meHn1e 60 HE3aJI0BUILHO HE3AJIOBIJIBHO — BUKOHAHHS HE 3a,10-BOJIBHSE
MIHIMaJIbBHUM KPHTEPIM

K.dimon.n., mouent

HaBunenko T.A.

" 20 p.




(@ 03. 02-88)
IlepeJtik
AO0AATKOBOI JIiTEpaAaTypH, BUKOPUCTAHHSA SIKOI J03BOJIAE€THCH IPHU
BHUKOHAHHI KOMILIEKCHOI KOHTPOJILHOI po00oTH

1. Hornby A.S., Oxford Advanced Learner’s Dictionary of Current English. — Oxford
University Press, 2000. — 874 p.

2. AHeno-pycckuil cnosapb no KoHomuke u ¢unancam / [nood peo. npodh., 0. KOH.H.,
A.B. Anuxunal. — Cné. : Dxonomuueckasn wkoaa, 1993. — 579 c.

3. KombunamopHnuiti cnoeaps anenutickoeo sizvika / M. Bencon, 3. Bencon, P. Uncon. —
M. : pycckuil azwix, 1990. — 286 c.



5 o (d 03. 02-89)
HALIOHAJIBHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm nigrorosku: 6.030503 «MixkHapo/Ha €eKOHOMIKa
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST

Variant 1
1. Translate the text in writing:

Although not as severe as a depression, a recession is clearly an undesirable
event. Like a depression, a recession leads to higher unemployment, reduced
output, reduced incomes and lower living standards.

To understand unemployment and how it relates to the adverse effects of reces-
sions, we need to understand something about how the labour force is structured.
Employment is the total number of people actively employed and unemployment is
the total number of people who are actively looking for work but aren’t currently
employed. A country’s labour force is the sum of employment and unemployment.
The official labour force doesn’t include discouraged workers — people who are
capable of working but have given up looking for jobs because they don’t think
they will find them. Labour statistics don’t include information on
underemployment — the number of people who work during a recession but receive
lower wages than they would during an expansion because they work fewer hours,
take lower-paying jobs, or both.

2. Give definitions of the following terms: progressive tax; government spending;
wages.
3. Answer the questions:

1. How can a market be organized?
2. Which is the most expensive part of customer management?

3aBigyBau Kadenpu

O. M. AxmainaiHoBa
" " 20 p.




5 o (d 03. 02-89)
HAIIOHAJIbBHU ABIALIIMHWN YHIBEPCUTET
HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niarorosku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 2

1. Translate the text in writing:

The unemployment rate is the percentage of the total number of people in the
labour force who are unemployed. The unemployment rate is usually a good
indicator of what conditions are like in the job market: a high unemployment rate
signals a poor job market in which jobs are hard to find; a low unemployment rate
indicates a good job market in which jobs are relatively easy to find. In general,
during recessions the unemployment rate is rising; during expansions it is falling.

In fact, even in the most prosperous times there is some unemployment. A
booming economy, like that of the late 1960s or late 1990s in the United Kingdom,
can push the unemployment rate down to 4 per cent or even lower. But a severe
recession, like that of 198081, can push the unemployment rate into double digits.
These abstract numbers translate into enormous differences in personal
experiences. For example, when the UK’s unemployment rate reached 10 per cent
in mid-1984, this meant over 3.25 million people in the United Kingdom were
actively seeking work but couldn’t find jobs.

2. Give definitions of the following terms: transfer; income tax; excise duty.
3. Answer the questions:

1. When can markets arise spontaneously?
2. How do companies retain their customers?

3aBigyBau Kadenpu

O. M. AxmanaiHoBa
" " 20 p.




5 o (d 03. 02-89)
HALIIOHAJIbHUUN ABIALIIMHWNM YHIBEPCUTET
HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niarorosku: 6.030503 «MixkHapoiHa €eKOHOMIKa
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 3

1. Translate the text in writing:

In fact, even in the most prosperous times there is some unemployment.
Zero unemployment is not a realistic possibility, and should not be the goal of
policy—makers. A booming economy, like that of the late 1960s or late 1990s in the
United Kingdom, can push the unemployment rate down to 4 per cent or even
lower. But a severe recession, like that of 198081, can push the unemployment
rate into double digits. These abstract numbers translate into enormous differences
in personal experiences. When the UK’s unemployment rate reached 10 per cent in
mid-1984, thus over 3.25 million people in the United Kingdom were actively
seeking work but couldn’t find jobs. At the start of the twenty—first century, as
unemployment fell to a low rate, UK businesses scrambled to find workers, and
even students with mediocre results and references got very good job offers. Alas,
as is the nature of the business cycle, this happy era was never likely to last forever
— graduates in 2002 and 2003 had considerable difficulty finding work, and
unemployment has since begun to creep up in the UK economy as a whole.

2. Give definitions of the following terms: value added tax; salary; property
tax.
3. Answer the questions:

1. What is a “’free” market?
2. What steps should you take for good customer?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
" " 20 p.




5 o (d 03. 02-89)
HALIOHAJIBHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 4

1. Translate the text in writing:

Economists distinguish between various types of unemployment,
including cyclical unemployment, frictional unemployment, structural
unemployment and classical unemployment.

Some additional types of unemployment that are occasionally mentioned
are seasonal unemployment, and hidden unemployment. Real-world
unemployment may combine different types. The magnitude of each of these is
difficult to measure, partly because they overlap.

Cyclical unemployment refers to unemployment that rises during
economic downturns and falls when the economy improves. It gets its name
because it varies with the business cycle, though it can also be persistent, as
during the Great Depression of the 1930s. In this case, the number of
unemployed workers exceeds the number of job vacancies, so that if even all
open jobs were filled, some workers would remain unemployed.

2. Give definitions of the following terms: transfer; excise duty; fee.
3. Answer the questions:

1. What steps should be made to acquire new customers?
2.Who may market prices be distorted by?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
" " 20 p.



http://en.wikipedia.org/wiki/Economics
http://en.wikipedia.org/wiki/Unemployment
http://en.wikipedia.org/wiki/Business_cycle
http://en.wikipedia.org/wiki/Great_Depression

5 o (d 03. 02-89)
HALIOHAJIbHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadghedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «ColiaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroBku: 6.030503 «MixxHapoaHa €KOHOMIKA
HapuanpHa mucrnumiiga «Jli1oBa iHO3eMHa MOBaY

COMPLEX TEST
Variant 5

1. Translate the text in writing:

Structural unemployment involves a mismatch between the sufficiently
skilled workers looking for jobs and the vacancies available. Even though the
number of vacancies may be equal to the number of the unemployed, the
unemployed workers lack the skills needed for the jobs — or are in the wrong
part of the country or world to take the jobs offered.

It is a mismatch of skills and opportunities due to the structure of the
economy changing. Structural unemployment is a result of the dynamics of the
labour market and the fact that these can never be as flexible as, e.g., financial
markets.

In the case of classical unemployment the number of job—seekers exceeds
the number of vacancies. However, the problem in this situation is that real wages
are higher than the market—equilibrium wage. In simple terms, institutions such as
"the minimum wage" deter employers from hiring all of the available workers,
because the cost would exceed the technologically—determined benefit of hiring
them.

2. Give definitions of the following terms: government spending; value
added tax; wages.
3. Answer the questions:

1. Why does the marginal utility tend to decrease after some period of increasing?
2. What is the difference between a perfectly competitive market and a
monopolistic market?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
20



http://en.wikipedia.org/wiki/Real_vs._nominal_in_economics

5 o (d 03. 02-89)
HALIOHAJIBHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 6

1. Translate the text in writing:

In economics, the term ‘underemployment’ involves a situation in which a
person is working, unlike unemployment, where a person who is searching for
work cannot find a job. Underemployment can mean:

a. The employment of workers with high skill levels in low—wage jobs that do not
require such abilities, for example, a trained medical doctor who works as a taxi
driver.

b. "Involuntary part-time" workers — workers who could (and would like to) be
working for a full work—week but can only find part—time work.

c. "Overstaffing” or "hidden unemployment”, the practice in which businesses or
entire economies employ workers who are not fully occupied — for example,
workers currently not being used to produce goods or services due to legal or
social restrictions or because the work is highly seasonal.

2. Give definitions of the following terms: value chain; economic growth;
dividend.
3. Answer the questions:

1. How do consumers make their choices about the quantity of goods and services
to consume?
2. In what ways is the term “market” generally used?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
" " 20 p.



http://en.wikipedia.org/wiki/Economics
http://en.wikipedia.org/wiki/Unemployment
http://en.wikipedia.org/wiki/Employment
http://en.wikipedia.org/wiki/Skill
http://en.wikipedia.org/wiki/Wage
http://en.wikipedia.org/wiki/Medical_doctor
http://en.wikipedia.org/wiki/Taxi
http://en.wikipedia.org/wiki/Business
http://en.wikipedia.org/wiki/Economics
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HALIOHAJIbHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadghedpa ino3emHux moe 3a ghaxom

["any3b 3Hanb: 05 «CoriaibHi Ta MOBEIIHKOBI HAYKU
Hanpswm niarorosku: 6.030503 «MixHapoiHa €eKOHOMIKa
HapuanpHa mucrnumiiga «Jli1oBa iHO3eMHa MOBaY

COMPLEX TEST
Variant 7

1. Translate the text in writing:

Unemployment occurs when a person is available to work but is currently
without work. The prevalence of unemployment is usually measured using the
unemployment rate, which is defined as the percentage of those in the labour force
who are unemployed. There is also disagreement on how exactly to measure
unemployment. Different countries experience different levels of unemployment;
traditionally, the USA experiences lower unemployment levels than countries in
the European Union, although there is variant there, with countries like the UK and
Denmark outperforming Italy and France and it also changes over time. When the
economy operates at productive capacity, it will experience the natural rate of
unemployment.

In recent years, unemployment rates in Germany and France have been higher
than unemployment rates in the United States. Most estimates suggest that the
natural rate of unemployment in France and Germany is currently above 8 per cent,
compared with somewhere between 5 per cent and 5.5 per cent in the US today.

2. Give definitions of the following terms: floating a company; foreign direct;
investment.
3. Answer the questions:

1. How does a firm search for the price to charge?
2. What are the main conditions for monopoly?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
" " 20 p.



http://en.wikipedia.org/wiki/Wage_labour
http://en.wikipedia.org/wiki/Labor_force
http://en.wikipedia.org/wiki/USA
http://en.wikipedia.org/wiki/European_Union
http://en.wikipedia.org/wiki/UK
http://en.wikipedia.org/wiki/Denmark
http://en.wikipedia.org/wiki/Italy
http://en.wikipedia.org/wiki/France
http://en.wikipedia.org/wiki/Natural_rate_of_unemployment
http://en.wikipedia.org/wiki/Natural_rate_of_unemployment
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HALIOHAJIBHUM ABIALIIMHUNA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «CoriaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 8

1. Translate the text in writing:

In fact, the unemployment rate was lower in France than in the United States,
but the situation reversed in the 1980s. Why might the natural rate in these
countries be so high today?

The answer from some (but not all) economists is that high European natural
rates of unemployment are an unintended side—effect of government policies, the
result of policies intended to help workers that involves the generous benefits to
the unemployed. In many European countries, there is no limit to the amount of
time that the unemployed can collect benefits, and the benefits that the unemployed
collect at any given point in time tend to be considerably greater in Europe than in
the United States. For example, benefits replace 48 per cent of the earnings of a
typical French worker, compared with only 14 per cent for the typical US worker.

2. Give definitions of the following terms: rights issue; economic growth;
share premium.
3. Answer the questions:

1. What is meant by good customer service?
2. What does the firm’s control over its product price depend on?

3aBigyBau Kadenpu

O. M. AxmanaiHoBa
" " 20 p.
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HALIOHAJIbHUM ABIALIIMHUIA VHIBEPCUTET

HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadgpedpa ino3emHux moe 3a ghaxom

["any3p 3HanHb: 05 «ColiaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroBku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucrnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 9

1. Translate the text in writing:

This conflict between the neoclassical and Keynesian theories has had strong
influence on government policy. The tendency for government is to curtail and
eliminate unemployment through increases in benefits and government jobs, and to
encourage the job—seeker to both consider new careers and relocation to another
city. Involuntary unemployment does not exist in agrarian societies nor is it
formally recognized to exist in underdeveloped but urban societies, such as the
mega—cities of Africa and of India/Pakistan.

In such societies, a suddenly unemployed person must meet their survival
needs by getting a new job at any price, becoming an entrepreneur, or joining the
underground economy of the hustler.

Societies try a number of different measures to get as many people as possible
into work. However, attempts to reduce the level of unemployment beyond the
natural rate of unemployment generally fail, resulting only in less output and more
inflation.

2. Give definitions of the following terms: protectionism; a public good,;
seasonal unemployment.

3. Answer the questions:
1. What can be done to deal with complaints?

2. What conditions characterize a monopolistic competitive market?

3aBigyBau kadenpu

O. M. AxmanaiHoBa
" " 20 p.



http://en.wikipedia.org/wiki/Natural_rate_of_unemployment
http://en.wikipedia.org/wiki/Inflation

5 o (d 03. 02-89)
HALIOHAJIbHUM ABIALIIMHUNA VHIBEPCUTET
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["any3p 3Hanb: 05 «ColiaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niaroroBku: 6.030503 «MixxHapoaHa €KOHOMIKA
HapuanpHa mucrnumiiga «Jli1oBa iHO3eMHa MOBaY

COMPLEX TEST
Variant 10

1. Translate the text in writing:

According to classical economic theory, markets reach equilibrium where
supply equals demand; everyone who wants to sell at the market price can. Those
who do not want to sell at this price do not; in the labour market this is classical
unemployment. The demand for labour in an economy is derived from the demand
for goods and services. As such, if the demand for goods and services in the
economy increases, the demand for labour will increase, increasing employment
and wages. Monetary policy and fiscal policy can both be used to increase short—
term growth in the economy, increasing the demand for labour and decreasing
unemployment.

However, the labour market is not efficient. Minimum wages and union
activity keep wages from falling, which means too many people want to sell their
labour at the going price but cannot. The labour market should be made more
flexible. These include removing the minimum wage and reducing the power of
unions as well as making workers more attractive to employers through workers’
education.

2. Give definitions of the following terms: mortgage; involuntary
unemployment; collective goods (or social goods).

3. Answer the questions:

1. What is market power?
2. What is the meaning of being helpful to customers?
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1. Translate the text in writing:

Technological change, coupled with labour market institutions, can also play
a role in affecting the natural rate of unemployment. Technological change
probably leads to an increase in the demand for skilled workers who are familiar
with the technology and a reduction in the demand for unskilled workers.
Economic theory predicts that wages should increase for skilled workers and
decrease for unskilled workers. But if wages for unskilled workers cannot go
down, say, due to a binding minimum wage, increased structural unemployment,
and hence a higher rate of natural unemployment, will result. A high minimum
wage can cause structural unemployment. Generous unemployment benefits can
increase both structural and frictional unemployment. So government policies
intended to help workers can have the undesirable side—effect of raising the natural
rate of unemployment. Some government policies, however, may reduce the
natural rate. Two examples are job training and employment subsidies. Job—
training programmes are supposed to provide unemployed workers with skills that
widen the range of jobs they can perform.

2. Give definitions of the following terms: collective goods; investment;
structural unemployment.
3. Answer the questions:
1. What do customer growth strategies involve?

2. What is called monopolistic competition?
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1. Translate the text in writing:

Unemployed individuals are unable to earn money to meet financial obligations.
Failure to pay mortgage payments or to pay rent may lead to homelessness through
foreclosure or eviction. Unemployment increases susceptibility to malnutrition,
illness, mental stress, and loss of self—esteem, leading to depression. According to a
study published in Social Indicator Research, even those who tend to be optimistic
find it difficult to look on the bright side of things when unemployed.

Dr. M. Brenner conducted a study in 1979 on the "Influence of the Social
Environment on Psychology.” Brenner found that for every 10% increase in the
number of unemployed there is a certain increase in total mortality, cardiovascular
diseases, more tumor cases, more suicides, more arrests, and more assaults reported
to the police. Higher government transfer payments in the form of welfare and food
stamps decrease spending on productive economic goods, decreasing GDP. A rising
unemployment rate increases competition amongst workers for scarce employment
opportunities.

2. Give definitions of the following terms: closed economy; mortgage;
unemployment rate.
3. Answer the questions:

1. What are basic types of market structures under traditional economic
analysis?
2. Why is it of vital importance to keep your promises in business?
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1. Translate the text in writing:

Unemployment can cause underemployment, and fear of job loss can spur
psychological anxiety. An economy with high unemployment is not using all of the
resources, i.e. labour, available to it. Since it is operating below its production
possibility frontier, it could have higher output if the entire workforce were
usefully employed. However, there is a trade off between economic efficiency and
unemployment: if the frictionally unemployed accepted the first job they were
offered, they would be likely to be operating at below their skill level, reducing the
economy’s efficiency.

During a long period of unemployment, workers can lose their skills,
causing a loss of human capital. Being unemployed can also reduce the life
expectancy of workers by about 7 years. Finally, high unemployment can
encourage xenophobia and protectionism as workers fear that foreigners are
stealing their jobs. Efforts to preserve existing jobs of domestic and native workers
include legal barriers against "outsiders” who want jobs, obstacles to immigration,
and/or tariffs and similar trade barriers against foreign competitors.

2. Give definitions of the following terms: asset, revenues, deterioration.
3. Answer the questions:

1. What outcomes are produced by oligopolistic competition?
2.What does the law of the diminishing marginal utility state? Provide an
example to illustrate it.
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1. Translate the text in writing:

Eurostat, the statistical office of the European Union, defines unemployed as
those persons aged 15 to 74 who are not working, have looked for work in the last
four weeks, and ready to start work within two weeks, which conform to ILO
standards. Eurostat also includes a long—term unemployment rate. This is defined
as part of the unemployed who have been unemployed for an excess of 1 year.

The unemployment rate may be different from the impact of the economy on
people. The unemployment figures indicate how many are not working but seeking
employment for pay. It is only indirectly connected with the number of people who
are actually not working at all or working without pay. Therefore, critics believe
that current methods of measuring unemployment are inaccurate in terms of the
impact of unemployment on people as these methods do not take into account the
available working population incarcerated in prisons, those who have lost their
jobs and have become discouraged over time from actively looking for work, those
who are self-employed or wish to become self-employed, such as tradesmen or
building contractors or IT consultants, etc.

2. Give definitions of the following terms: patent, accounting, revenues.
3. Answer the questions:

1. What qualities should your staff possess?
2. What is the main result of the situation when there are only few sellers on
the market?
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1. Translate the text in writing:

Critics believe that current methods of measuring unemployment are
Inaccurate in terms of the impact of unemployment on people as these methods do
not take into account the available working population incarcerated in prisons (who
may or may not be working while incarcerated), those who have lost their jobs and
have become discouraged over time from actively looking for work, those who are
self-employed or wish to become self-employed, such as tradesmen or building
contractors or IT consultants, those who have retired before the official retirement
age but would still like to work (involuntary early retirees), those on disability
pensions who, while not possessing full health, still wish to work in occupations
suitable for their medical conditions, those who would like to work full-time. These
people are "involuntary part-time™ workers, those who are underemployed, e.g., a
computer programmer who is working in a retail store until he can find a permanent
job, involuntary stay—at—home mothers who would prefer to work, and graduate and
Professional school students who were unable to find worthwhile jobs after their
graduation.

2. Give definitions of the following terms: goal, team player, middle
manager.

3. Answer the questions:
1. What is the cost of monopoly to the consumer?

2. What is the main reason for firms to collude?
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1. Translate the text in writing:

Underemployment describes the employment of workers with high skill
levels in low—wage jobs that do not require such abilities. For example, someone
with a college degree may be tending bar or driving a cab. This may result from the
existence of unemployment, which makes workers with bills to pay (and
responsibilities) take almost any jobs available, even if they do not use their full
talents. This can also occur with individuals who are being discriminated against,
lack appropriate trade certification or academic degrees (such as a high school or
college diploma), have disabilities, or have served time in prison. Two common
situations which can lead to underemployment are immigrants and new graduates.
When highly—trained immigrants arrive in a country, their foreign credentials may
not be recognized or accepted in their new country, or they may have to do a
lengthy or costly re—credentialing process. As a result, when doctors or engineers
from non-Western countries immigrate, they may be unable to work in their
profession, and they may have to seek menial work.

2. Give definitions of the following terms: planning, objective, top manager.
3. Answer the questions:

1. Why does good customer service bring more profits than promotions and
slash prices?
2. What role does a monopoly play in economics?
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1. Translate the text in writing:

When highly—trained immigrants arrive in a country, their foreign credentials
may not be recognized or accepted in their new country, or they may have to do
a lengthy or costly re—credentialing process. As a result, when doctors or
engineers from non-Western countries immigrate, they may be unable to work
in their profession, and they may have to seek menial work. New college or
university graduates may also face underemployment, because even though
they have completed the technical training for a given field for which there is a
good job market, they lack experience. As a result, a recent graduate with a
Master’s degree in accounting may have to work in a low—paid job until they
are able to find work in their field. A related kind of underemployment refers to
"involuntary part-time™ workers. These are workers who could (and would like
to) be working for the standard work—-week (typically full-time employment
means 40 hours per week in the United States) who can only find part-time
work. Underemployment is more prevalent during times of economic stagnation
(during recessions or depressions).

2. Give definitions of the following terms: leadership, top manager, line
structure.
3. Answer the questions:

1.Why is good customer service considered to be the lifeblood of any
business?

2. Are there any barriers to entry and exit for a firm in a monopolistically
competitive market?
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1. Translate the text in writing:

Many countries have aids for the unemployed as part of the social welfare.
These unemployment benefits include unemployment insurance, welfare,
unemployment compensation and subsidies to aid in retraining. The main goal of
these programs is to alleviate short—term hardships and, more importantly, to allow
workers more time to search for a job.

Unemployment benefits are generally given only to those registered as
unemployed, and often on conditions ensuring that they seek work and do not
currently have a job. In some countries, a significant proportion of unemployment
benefits are distributed by trade/labour unions.

In Canada the system is now known as Employment Insurance (EI).
Canadian workers pay premiums of 1.73% of insured earnings in return for
benefits if they lose their jobs. The amount a person receives and how long they
can stay on EI varies with their previous salary, how long they were working, and
the unemployment rate in their area.

2. Give definitions of the following terms: planning, objective, management.
3. Answer the questions:

1. Why is it better to increase the value of existing customers than to acquire
new ones?

2. What is the principal difference between the short-run and the long-run in
a monopolistically competitive market?
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1. Translate the text in writing:

In the U.S. the unemployment insurance one receives is based solely on
previous income (not time worked, family size, etc.) and usually compensates for
one—third of one’s previous income. To qualify, one must reside in their respective
state for at least a year and, of course, work. The system was established by the
Social Security Act of 1935.

In Australia, the social security benefits system is designed to support
citizens no matter how long they have been unemployed for and is funded through
the income tax system and distributed throughout the nation by Centrelink. There
are two types of payment available to those experiencing unemployment. The first,
called Youth Allowance, is paid to young people aged 16-24. The second kind of
payment is called Newstart Allowance and is paid to unemployed people over the
age of 21 and under the pension eligibility age. This system has much been
criticized on the grounds that welfare generates a ‘culture of welfare dependence’.

2. Give definitions of the following terms: leadership, staffing, middle manager.
3. Answer the questions:

1. What is the difference between total and marginal utility?
2. What kind of market form is an oligopoly?
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1. Translate the text in writing:

Supporters argue that private sector development (PSD) is an important part
of poverty reduction. Whether as workers, subsistence farmers or entrepreneurs,
most poor people already participate in markets. Strengthening these markets in
ways that secure higher incomes for the poor is therefore seen by PSD advocates as
a fair and efficient way to fight poverty.

Earning a decent income in the private sector, it is argued, is also more
dignifying than relying on hand-outs. As with all development interventions, PSD
programs are under pressure to measure and report their achievements, monitoring
and evaluating their work in ways that are both credible and cost-effective.

One source of further information about methodologies for measuring the
results of PSD, including the approaches currently used by different donors, is the
Donor Committee for Enterprise Development.

2. Give definitions of the following terms: direct exporting; joint venture;
interest rate.

3. Answer the questions:

1. What is the most common way of accomplishing product differentiation?
2. What is the ultimate objective of any customer management strategy?

3aBigyBau Kadenpu

O. M. AxmanmiHoBa
" " 20 p.



http://en.wikipedia.org/wiki/Poverty_reduction

(d 03. 02-89)

HALIOHAJILHUM ABIAIIIMHWI YVHIBEPCUTET
HaBuanbHO-HayKOBHI TyMaHITapHUM IHCTUTYT

Kadghedpa ino3emHux moe 3a ghaxom

["any3p 3Hanb: 05 «ColiaibHi Ta MOBEIHKOB1 HAYKH
Hanpswm niarorosku: 6.030503 «MixHapoiHa €eKOHOMIKa
HapuanpHa mucnumiina «JliioBa iHO3eMHA MOBa»

COMPLEX TEST
Variant 21

1. Translate the text in writing:

Business environment reform. Where entrepreneurship and markets are

stifled by inappropriate regulation, excessive taxation, lack of fair competition,
lack of voice or an unstable policy environment, growth and poverty reduction are
likely to suffer. Typically, donors first fund business environment analyses, such as
the World Bank’s Doing Business Reports, identifying the major constraints to
business growth. They then work with government and other stakeholders to
implement reforms.
The private sector itself can play an important role in advocating for a better
business environment. Many development agencies thus work to strengthen the
capacity of businesses and business associations to engage in public-private
dialogue with governments.

Green growth. A number of development agencies are engaged in developing
markets to channel finance raised for climate change mitigation and adaptation in
industrialized countries towards initiatives that reduce carbon emissions in the
developing world.

2. Give definitions of the following terms: subsidiary; global market;
management contract.
3. Answer the questions:

1. What does microeconomics focus on?
2. What can be done by a company to move away from price-based
competition?
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1. Translate the text in writing:

Business development services. This approach seeks to build markets in
services that improve the performance of individual enterprises. Some of the most
important BDS markets are in training, consultancy, marketing, market
information, information technology and technology transfer. For many within the
development community, donors should ideally not undertake BDS directly;
instead they should facilitate commercial BDS providers to be self-sustaining,
through the improvement of their techniques and the sourcing of new clients, BDS
markets can be sustainable where providers recover their costs via the fees they
charge for services. However, business development services are also found in
developed countries where the argument advanced is that the market for business
development fails and therefore the government should enable this market.

2. Give definitions of the following terms: external environment; barter;
investor.
3. Answer the questions:

1. What kinds of products are offered by the oligopoly?
2. Why is it not possible to be all things to all people?
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1. Translate the text in writing:

Making markets work for the poor. This approach aims to understand how poor
people interact with market systems, and how these systems can be changed to
improve their lives. It aims for large-scale, sustainable impact by focusing on
overall markets, rather than targeting individual actors within that market. In this
sense, an M4P programme may incorporate various elements of value chain
development, BDS and/ or business environment reform. Donors that have
pioneered the M4P approach include the UK’s Department for International
Development (DFID), the Swedish International Development and Cooperation
Agency (Sida) and the Swiss Agency for Development and Cooperation (SDC).

Green growth. A number of development agencies are engaged in developing
markets to channel finance raised for climate change mitigation and adaptation in
industrialized countries towards initiatives that reduce carbon emissions in the
developing world. If managed appropriately, they argue, the challenge of
responding to climate change could generate decent jobs and incomes for many
millions of poor people.

2. Give definitions of the following terms: turnkey project; uncontrollable
forces; licensing.

3. Answer the questions:

1. How many firms are there on the oligopoly market?
2. What happens if prices for goods and services change?
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1. Translate the text in writing:

Local economic development. LED typically starts by analyzing the
economy of a particular region or municipality, identifying opportunities to
enhance its prospects. LED strategies may combine any of the following: business
environment reform, value chain development, infrastructure development,
innovation and technology policy, planning and/or skills development. LED
programs often involve local and regional governments, the private sector and civil
society in programme design and implementation.

Public-private development partnerships. Many development agencies are
now working directly with businesses to deliver development impacts. Such
partnerships cover a wide range of activities. One increasingly common approach
is to create a Challenge Fund, whereby companies bid for donor funding,
competing to maximize the development impact of the grant money made
available. Access to finance is seen by most experts as vital to private enterprises
in the developing world. While some development agencies therefore see it as part
of Private Sector Development, many treat it as a separate field in its own right.

2. Give definitions of the following terms: international business; export
revenue; ‘stateless’ corporation.
3. Answer the questions:

1. By what means does oligopoly maximize profits?
2. What is the effect of relative price changes?
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1. Translate the text in writing:

Private sector development in conflict-affected environment. Conflict
presents unique challenges and unique opportunities for Private Sector
Development. One the one hand, conflict disrupts the regular functioning of
markets and in their place creates a war economy. PSD practitioners must be
sensitive to the impact of their activities on the conflict situation, e.g. effects on the
distribution of resources, as well as the impacts that conflict will have on their
activities. On the other hand, where it generates job creation and trade, Private
Sector Development can play a vital role in peace building.

Private sector development following the financial crisis. For many people,
the Global Financial Crisis has raised questions about the ways in which markets
should be regulated in order to ensure long-term, sustainable development. At the
same time, with many countries now faced with slower growth and higher
unemployment, reviving economies by kick-starting the private sector is seen by
many as at the heart of a global response.

2. Give definitions of the following terms: progressive tax; government
spending; wages.

3. Answer the questions:

1. What can a firm’s product be differentiated in?
2. What is utility? Can you give an example to illustrate it.

3aBigyBau kadenpu
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Hanpswm niaroroku: 6.030503 «MixxHapoaHa €eKOHOMIKA
Hapuanpha mucnumiiga «Jli1oBa iHO3eMHA MOBaY

COMPLEX TEST
Variant 26

1. Translate the text in writing:

Economic growth & development are two different terms used in economics.
Generally speaking, economic development refers to the problems of
underdeveloped countries and economic growth to those of developed countries.
By economic growth we simply mean increase in per capita income or increase in
GNP.

The term economic development implies progressive changes in the socio-
economic structure of a country. Viewed in this way economic development
involves a steady decline in agricultural shares in GNP and continuous increase in
shares of industries, trade, banking, construction and services. Further whereas
economic growth merely refers to rise in output, development implies change in
technological and institutional organization of production as well as in distributive
pattern of income. The process of development is far more extensive. Apart from?
a rise in output, it involves changes in composition of output, shift in the allocation
of productive resources, and elimination or reduction of poverty, inequalities and
unemployment.

2. Give definitions of the following terms: transfer; income tax; excise duty.
3. Answer the questions:

1. What examples of monopolistic competitive firms can you give?
2. What are the components of a successful customer management strategy?
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Hanpswm niarorosku: 6.030503 «MixkHapoiHa €eKOHOMIKa
HapuanpHa qucniumiina «Jli1oBa iHO3eMHA MOBa»

COMPLEX TEST
Variant 27

1. Translate the text in writing:

Economic development is not possible without growth but growth is
possible without development because growth is just increase in GNP. It does not
have any other parameters to it. Development can be conceived as multi-
dimensional process or phenomena. If there is increase in GNP more than the
increase in per capita income then we can say that development is possible. When
given conditions of population improves then we can say that this is also an
indicator of economic development.

Economic development is a branch of economics that deals with the study of
macroeconomic causes of long term economic growth, and microeconomics; the
incentive issues of individual households and firms, especially in developing
countries. This may involve using mathematical methods from dynamical systems
like differential equations and temporal optimization, or it may involve a mixture
of quantitative and qualitative methods.

2. Give definitions of the following terms: goal, team player, middle
manager.

3. Answer the questions:

1. What factors are assumed to be variable for the firm to enter and exit the
market?
2. What does the theory of the consumer behaviour describe?
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1. Translate the text in writing:

Development is a phenomenon which occurs over a long period of time but
economic growth is increase in GNP which can occur when we are able to achieve
increase in number of resources or increase in technology or by the combination of
both.

Freidman defines growth as an expansion of the system in one or more
dimensions without a change in its structure and development as an innovative
process leading to the structural transformation of social systems.

Thus economic growth is related to a quantitative sustained increase in the
country’s per capita output or income accompanied by expansion in its labour
force, consumption capital and volume of trade. On the other hand economic wants
goods incentives and institutions.

Apart from measuring income with the help of per capita GNP we have one
more method to calculate economic development, it is Human Development Index
(HDI).

2. Give definitions of the following terms: planning, objective, top manager.
3. Answer the questions:

1. When may a government monopoly exist?
2. How can the profit maximizing level of output be found?
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COMPLEX TEST
Variant 29
1. Translate the text in writing:

Human Development Index (HDI) measures education and health and is thus
multi-dimensional. It focuses the attention of the policy makers on the ultimate
objective of development, not just the means. It shows that Human development
gaps between nations are more manageable than the ever widening disparities in
income. The search for a comprehensive measure that could capture the various
dimensions of human development led to the definition and formulation of Human
Development Index by the United Nations Development programme in human
development report published in 1990.

HDI is composed of 3 basic indicators of human development — longevity,
knowledge and standard of living.

Longevity is measured by life expectancy at birth; knowledge by a
combination of adult literacy and combined primary and secondary and tertiary
enroll. Ratios and standard of living is measured by real GDP per capital.

2. Give definitions of the following terms: asset, revenues, deterioration.
3. Answer the questions:

1. What kinds of barriers to entrering a market does a firm face in a
monopolistic market structure?
2. How is the consumer equilibrium found?
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COMPLEX TEST
Variant 30

1. Translate the text in writing:

Development economics emerged as a branch of economics because
economists after World War Il became concerned about the low standard of living
in so many countries of Latin America, Africa, and Asia. There are, however,
Important reservations in making development economics as branch of economics
as opposed to the ultimate objective of the study of economics. The first
approaches to development economics assumed that the economies of the less
developed countries were so different from the developed countries that basic
economics could not explain the behavior of LDC economies. Such approaches
produced some interesting and even elegant economic models, but these models
failed to explain the patterns of no growth, slow growth, or growth and
retrogression found in the less developed countries. Longevity is measured by life
expectancy at birth; knowledge by a combination of adult literacy and combined
primary and secondary and tertiary enroll. Ratios and standard of living is
measured by real GDP per capital.

2. Give definitions of the following terms: government spending; value
added tax; wages.

3. Answer the questions:

1. What is the solution to the consumer’s problem?
2. What advantages can a monopoly have over would be competitors?
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